Efficiency vs hit fake+duplicates vs hits

o 1.2 o 0.
= [ = E
@ [ wOlS:—
> I @ F.
5 | o
L2 [ . oY.laet
5% So.12F
[ SF
0.6 3 =
3 80.08F-
[ < 0.08F
0.4} = F
oAz-—---i----:L----E{ O SO 2
QR TR e O OO O I
I T
x 9 o4
0.9
0'8() 10 20 30 40 50 60 70 80 0 5 10 15 20 25 30 35 40

TP hits track hits

[—=— DQM_original step2_libar-phasel-newgeo

—— DQM_} plxelCPETempTa(e step2_ttbar-| pﬁasel -newgeom

—— DQM_pixelCPETemplateCutChiSquareNew_step2_tthar-phasel-newgeom
— —+— DQM_pixelCPETemplateCutChiSquareNew2_step2_ttbar-phasel-newgeom
I Efficienc| —— DOM_pixelCPETemplateCutChiSquareNew3_step2_ttbar-phasel-newgeom

[ 0.2p - - - - o 0.2p - - - -
4] E @ E : : . .
&0.18F F0.18F------ Poooeeed T ERRRRREE e
20.16F £0.16
5‘ F Q
£0.14F 80.14
— [%]
£0.12F £0.12F
[} - o -
0.F- - rebrnn e 3 0.1
=]
- ? -
0.08F o8k
0.06f 80.06
0.04 0.04
0.02 0.02
o ¢ o O
g | & 105
0.9 1
o8 5 10 15 20 25 09% 5 1015 20 25
TP layers track layers

[ fake+duplicates vs pixel layers |
0.5

[S) o
O w 2 »
w O » O

o
N
(3]

fake+duplicates rate vs pixel layers

6 7 8

o 5 0 56 7 8
TP pixel layers track pixel layers
[ fake+duplicates vs 3D layers |
o 0.5 o 0.8
s §
Z0.45F 2 o7k
9) 0.4F 93 065
@ E = 06E-
E 2 E
20.355— P E
S 03 S 05
k3] E Q o
% 0.25F T 0.4F-
E S E
0.25— § 03f-
0.15F ® A
E 0.2
0.1 £ E
0.05F 0
o OF o s0f
R 5
x o g} :
0.9F g
: oo . 1 - bR e e
O'U 2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20

TP 3D layers track 3D layers



	Contents
	Page 1


